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1. Consider a discrete-time LTI system having the following difference equation:

y[n] = x[n] − 0.5x[n− 1]

(a) Find the poles and zeros of the system.

(b) Find the system frequency response H(ejΩ).

(c) Suppose the system input x[n] has fundamental period N0 = 5 and discrete-time Fourier series
coefficients x0 = 2, x1 = 0.75, and x2 = −1. All other coefficients are zero. Find the discrete-time
Fourier series coefficients for the output signal y[n]. Simplify the coefficients as much as possible.
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